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1 L=0.127H ' _ 0.01/2sin(wt + 30°)
(1) f=50Hz, (2) f=5000Hz, u,

1 (1) f =50HZ w = 2xf =314rad/s
X, = 27fL = 314x 0.127 = 40(Q)
U, = jX_ I = j40x0.01£30° = 0.4/120
U, =0.4v2sin(wt +120°) = 0.4+/2sin(314t +120°)V

(2) f=5000Hz w = 22f =31400rad/s
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U, = jX_ I = j4000x0.01£30° = 40£120°

U, =40v2sin(wt +120°) = 40v/2 5in(31400t +120° )V



R =30Q, L =40mH
U =10V, =1000rad/s

1. 2 u=10J2 i="?

l.  Z=R+jwL=30+j40=50,53.'Q
U =1020°

_V_ 1040 55 s31A 1-02A
Z 50,531

2. u=10v2 wt=7x/2
i =0.27/2sin(wt —53.1°) =0.2./2sin(90° —53.1°) = 0.17A
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1: C=4750F Uc=10V2sinat
(8) f =50H> (b) f =5000Hz To

(@) f=50Hz @=2af =314rad/s
B. = wC = 22fC = 314x 4.75x107° =15x107*(S)
.= joCU,. = jB.U. = j0.015(A) i =0.015v2sin(wt +90°) A

(b) f =5000Hz @ =24f =31400rad/s
B. = wC =314x10°x4.75x107° = 0.15(S)
|°C _ jBCUC _ j1.5(A) iC :1.5@sin(a)t+90°)A




9- G =0.00312S
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0.01° = 0.00312° + (wC)? C =30.3uF

| =YU =(0.00312 + j314x30.3x10°°%)-10£0°
=0.1/71.8

| = 0.1./2sin(314t + 71.8 )A
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